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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER • 2014 

Subject Code: 3330603 Date: 17-06-2014        

Subject Name: Hydraulics 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) Enlist properties of liquid and explain any three in detail. 07 

 (b) Convert following. 

(i) Pressure head of 2.5 m oil of sp.gr. 0.8 to pressure intensity in kN/m
2
. 

(ii) 108.62 kN/m
2
 to pressure head in m of liquid of sp.gr. 1.4. 

(iii) Pressure head of 1.8 m of water to pressure head of mercury. 

 

02 

02 

03 

    
Q.2 (a) (i) A trapezoidal channel has bed width 5 m and side slope 2:1. If the depth of 

flowing water is 1.8 m, bed slope of the channel is 1:1500 and C is 55, 

calculate the discharge. 

(ii)Write  the difference  between laminar flow and turbulent flow. 

 

04 

 

 

03 

 (b) Derive an equation for total pressure and centre of pressure for a plane 

vertically immersed in water. 

07 

  OR  

 (b) A circular plate 1.5 m diameter having a square hole of 0.5 m with one edge 

parallel to free surface at its centre, immersed vertically in water with 

uppermost end of the plate lies at a depth of 0.75 m below the free surface. 

Calculate total pressure on the plate and depth of centre of pressure. 

07 

    
Q.3 (a) (i)  The diameter of a pipe increases suddenly from 200 mm to 300 mm. If rate 

of flow in the pipe is 100 lit/sec, calculate head loss due to sudden expansion.  

(ii) Explain pitot tube with neat sketch. 

 

04 

 

03 

 (b) (i) A horizontal venturimeter 16 cm × 8 cm is used to measure flow of an oil 

of sp. gr. 0.9. If the deflection of  mercury in the manometer is 4.0 cm, find the 

discharge of the oil. Take Constant of venturimeter = 1. 

(ii) Draw a neat sketch of a venturimeter showing various components of it. 

04 

 

 

03 

  OR  

Q.3 (a) Prove Bernoulli’s theorem. 07 

 (b) (i) A discharge of 0.1 m
3
/sec is flowing through a pipe having diameter 300 

mm. Considering density of liquid 900 kg/m
3
, viscosity 0.4 NS/m

2
, find the 

type of flow.  

(ii) Explain in brief continuity equation. 

04 

 

 

03 

    
Q.4 (a) Derive the conditions for most economical (i) Rectangular canal section and 

(ii) Trapezoidal canal section. 

07 

 (b) A compound pipeline 2000 m long is made up of a pipe of length 900m & 45 

cm dia, 600 m & 40 cm dia  and  remaining length  of pipe is of 30 cm dia. 

This pipeline is required to be replaced by a pipeline of uniform diameter of 

pipe and same length of pipeline. Calculate the diameter of pipe. 

07 

  OR  

Q. 4 (a) Explain specific energy diagram in detail. 07 
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 (b) Explain various minor losses with formulae of each in pipe flow. 07 

    
Q.5 (a) Derive an equation for discharge passing over a triangular notch. 07 

 (b) From a 25 mm dia orifice, jet of water falls 32 cm away and 3 cm down from 

vena contracta. Calculate Cd, Cc and Cv, if head of water is 1 m and discharge 

is 1.4 lit/sec. 

07 

  OR  

Q.5 (a) Water passes through a right angled triangular notch at a depth of 38 cm. The 

same quantity of water flowing over a rectangular notch of 78 cm length. Find 

depth of flow over rectangular notch. Take Cd = 0.59 & 0.62 for triangular and 

rectangular notch respectively. 

07 

 (b) Explain in detail hydraulic coefficients and prove Cd = Cc × Cv 07 
 

************ 

ગજુરાતી 
પ્રશ્ન. ૧ અ પ્રલાશીના ગણુધભોની માદી ફનાલી કોઇ ઩ણ ત્રણ વલગતે વભજાલો. ૦૭ 

 બ નીચે મજુફ પેયલો. 
(i) ૦.૮ વલ.ઘનતા ધયાલતા પ્રલાશીના ૨.૫ ભી  દાફળી઴ષને દાફતીલષતા  
    કીરોન્યટુન/ભી૨ ભાાં. 
(ii) ૧.૪ વલ.ઘનતા ધયાલતા પ્રલાશીની ૧૦૮.૬૨  કીરોન્યટુન/ભી૨ 

     દાફતીલષતાને દાફળી઴ષ  ભીટયભાાં. 
      (iii) ઩ાણીના ૧.૮ ભી દાફળી઴ષને ઩ાયાના દાફળી઴ષભાાં. 

 

 0૨ 

0૨ 

 

 

૦૩ 

    
પ્રશ્ન. ૨ અ (i) એક વભરાંફક કેનારની ઩ામાની ઩શો઱ાઇ ૫ ભી અને ફાજુનોઢા઱ ૨:૧ 

    છે. જો લશતેા ઩ાણીની ઉંડાઇ ૧.૮ ભી, કેનારના તળ઱માનો ઢા઱૧:૧૫૦૦  
    અને Cની કકિંભત ૫૫ શોમ તો  વનકાવની ગણતયી કયો.  
(ii)  ઩ટર પ્રલાશ અને વલક્ષબુ્ધ પ્રલાશ લચ્ચેનો તપાલત રખો. 

૦૪ 

 

 

 

૦૩ 

 બ ઩ાણીભાાં ઉબી ડુફાડેરી વ઩ાટી ભાટે કુર દફાણ અને દાફકેન્રની ઉંડાઇ  ભાટેનુાં 
સતૂ્ર તાયલો. 

૦૭ 

  અથવા  

 બ ૧.૫ ભી વ્માવ ધયાલતી ગો઱ાકાય વ઩ાટી કે જેના કેન્રભાાં ૦.૫ ભી ભા઩નુાં ચોયવ 
કાણુાં કે જેની એક ધાય મકુ્ત વ઩ાટીને વભાાંતય છે તેને ઩ાણીભાાં એલી યીતે ઉબી 
ડુફાડેરી  છે જેથી તેની વૌથી ઉ઩યની ધાય મકુ્ત વ઩ાટીથી ૦.૭૫ ભી ઉંડાઇ એ 
યશ.ે વ઩ાટી ઩ય રાગત ુાં કુર દફાણ અને દાફકેન્રની ઉંડાઇ  ળોધો. 

૦૭ 

    
પ્રશ્ન. ૩ અ (i)  એક ન઱ીનો વ્માવ ૨૦૦ ભીભી થી અચાનક લધી  ૩૦૦ ભીભી થામ છે.  જો 

઩ાઇ઩ભાાં પ્રલાશીનો  વનકાવદય ૧૦૦ રીટય/વેકાંડ શોમ તો અચાનક લધાયાને 
કાયણે થતા ળી઴ષવ્મમની ગણતયી કયો.  
(ii) સ્લચ્છ આકૃવત વાથે ઩ીટોટ ન઱ી વભજાલો.  
 

૦૪ 

 

 

 

૦૩ 

 બ (i) ૧૬ વેભી × ૮ વેભી ભા઩નુાં કૈ્ષવતજ લેન્ચયુીભીટય ૦.૯ વલ.ઘનતા ધયાલતા 
પ્રલાશીનો પ્રલાશ ભા઩લા ભાટે લ઩યામ છે. જો ભેનોભીટયભાાં ઩ાયાનુાં વલચરન 

૦૪ 
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૪.૦ વેભી શોમ તો  પ્રલાશીનો વનકાવ ળોધો.  લેન્ચયુીભીટય નો અચ઱ાાંક = ૧ રો. 
(ii) લેન્ચયુીભીટયની સ્લચ્છ આકૃવત દોયી તેના વલવલધ બાગો દળાષલો. 

 

 

૦૩ 

  અથવા  

પ્રશ્ન. ૩ અ ફનોરીનુાં પ્રભેમ વાળફત કયો. ૦૭ 

 બ (i) ૩૦૦ ભીભી વ્માવની ન઱ીભાાંથી ૦.૧ ભી૩/વેકાંડનો વનકાવ થઇ યહ્યો છે. 
પ્રલાશીની ઘનતા ૯૦૦ કીગ્રા/ભી3 અને શ્માનતા ૦.૪ ન્યટુન.વેકાંડ/ભી૨  રઇ 
પ્રલાશીનો પ્રકાય ળોધો. 
(ii) વાતત્મ વભીકયણ ટૂાંકભાાં વભજાલો. 

૦૪ 
 

 

 

૦૩ 

    
પ્રશ્ન. ૪ અ (i)  રાંફચોયવ કેનાર વેક્ળન અને (ii) વભરાંફક કેનાર વેક્ળન ભાટે વૌથી 

કયકવયયકુ્ત આડછેદ ભાટેની ળયતો વાળફત કયો. 
૦૭ 

 બ ૨૦૦૦ ભી રાંફાઇની કમ્઩ાઉન્ડ ઩ાઇ઩ જેભાાં ૯૦૦ ભી રાંફાઇ, ૪૫ વેભી 
વ્માવની, ૬૦૦ ભી રાંફાઇ, ૪૦ વેભી વ્માવની અને ફાકીની રાંફાઇ ૩૦ વેભી 
વ્માવની છે. આ ઩ાઇ઩રાઇનને એકવયખા વ્માવની ઩ાઇ઩ અને તેટરી જ 
રાંફાઇની ઩ાઇ઩રાઇન લડે ફદરલાની છે. વભકક્ષ ઩ાઇ઩નો વ્માવ ગણો.      

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ સ્઩ેવવકપક એનજી યેખાળચત્ર વલગતે વભજાલો. ૦૭ 

 બ ઩ાઇ઩ પ્રલાશભાાં થતા વલવલધ ગૌણ વ્મમ દયેકના સતૂ્ર વાથે વભજાલો. ૦૭ 

    
પ્રશ્ન. ૫ અ વત્રકોણાકાય ખાાંચ ઩યથી ઩વાય થતા વનકાવનુાં સતૂ્ર વાળફત કયો. ૦૭ 

 બ ૨૫ ભીભી વ્માવના મખુયાંધ્રભાાંથી ઩ાણીની ધાય લેનાકોંટ્રાક્ટાથી ૩૨
 વેભી દુય 
અને ૩ વેભી નીચે ઩ડે છે. જો ઩ાણીનો ળી઴ષ ૧ ભી અને વનકાવ ૧.૪ 
રીટય/વેકાંડ શોમ તો  Cd, Cc  અને  Cv ની ગણતયી કયો.  

૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ કાટકોણ વત્રકોણાકાય ખાાંચ ઩યથી ૩૮ વેભી વળ઴ષથી ઩ાણી લશ ે છે. તેટરા જ 
જથ્થાભાાં ઩ાણી ૭૮ વેભી રાાંફી રાંફચોયવ ખાાંચ ઩યથી લશ ેછે. રાંફચોયવ ખાાંચ 
઩યથી લશતેા ઩ાણીની ઉંડાઇ ળોધો.  વત્રકોણાકાય  અને રાંફચોયવ ખાાંચ ભાટે Cd 

નુાં મલુ્મ અનકુ્રભે 0.59 અને 0.62 રો. 

૦૭ 

 બ શાઇડ્રોળરક ગણુાાંકો વલગતે વભજાલો અને Cd = Cc × Cv વાળફત કયો. ૦૭ 

 

************ 


